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#include<iostream>

using namespace std;

//—HREH 300 RIETF
int succedent[300]; //iX
/WA “next [5] HfE
int precedent[300];//7

int main() {
int n, m;
while (true) {
cin >> n >> m;
if (n == 0 & m == 0)
break;
for (int i = 0; i < n - 1; i++) {
succedent[i] = i + 1;
precedent[i + 1] = i;

}
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succedent[n - 1] = 0;

precedent[0] =n - 1;

int current = 0;

while (true) {

VR —FFER m k5, LI m-1 K succedent Z
for (int count = 0; count < m-1; count++)

current = succedent[current];

int pre = precedent[current];

int suc = succedent [current];

F—1L" 45/ current B9 T—1L,

succedent [pre] = suc;

precedent [suc] = pre;

if (pre == suc) {
/73R

//current
/7%
cout << pre+l << endl;
break;

s

current = suc;

¥
return O;
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#include<iostream>

using namespace std;

int main() {
int n;
cin >> n;
int sumn = 0, sumd = 1;//fi %R, sumn/sumd
while (n--) {
int num, deno;
char slash;//% [T/ K CH /8
cin >> num >> slash >> deno;
//EMI a/b + c/d = (axd+cxb)/(bxd)

sumn = sumn*deno + num*sumd;

sumd = sumd+*deno;
¥
IR

int a = sumd, b = sumn, c;
while (a != 0) {

c =a; a=bla; b=c;

¥

int ged =

Ve asiwas ged Bt LT K 4
sumd /= gcd;

sumn /= gcd;
if (sumd > 1)

cout << sumn << '/' << sumd << endl;
else

cout << sumn << endl;

return O;
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#include<iostream>
using namespace std;
int main(){
// autograder Z/& 4 T1EH?
! autograder R & 7 B A WA A G _E oy % ) R E E

ft’k

/7 cout << "3" << endl << "D" << endl;
// 0j RLHHY autograder FTHIRF T H HAER
77 (3 HRT XT84 —?}Lﬂﬁm‘

/) ——%%, I autograder ELTIFE?
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// J vest #F

int best;

for(best = 1; best <= 4; best++){
// ab cd iBFEf i
bool a = (best == 2);

bool b = (best == 4);
bool ¢ = !(best == 3);
bool d = !b;
if (a+b+c+d!=1)
continue; // THERHA 1 L KIAHF 14
/) W RESF

cout << best << endl;

/7 il H B E A B K
if (a == 1)

cout << "A" << endl;
else if ( b == 1)

cout << "B" << endl;
else if ( c == 1)
cout << "C" << endl;
else
cout << "D" << endl;
¥

return O;
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//do your magic
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